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12.a.6and 9

b. 6.4; the median rating is 6, so the
average rating is above the median

Rubric
a. 1 point
b. 1 point for each
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6.SP.5¢
SELECTED RESPONSE 3. Ina wants to buy a new computer, so she

‘Select all correct answers.

1. The dot plot shown displays the amount
of money, in millions of dollars, that
different companies spend on television
‘advertising in one year. Which of the
following statements describe the
data set?

5 10 15

Amount Spent on Advertising
(in millions of dollars)

(A The overall pattern of the distribution
is skewed left

(B The overall pattern of the distribution
s skewed right

(© The overall pattern of the distribution
is symmetric.

compares the prices of different
computers. Her results are shown in
the box plot, in hundreds of dollars.
What is the interquartile range of the
prices for computers?

— T

D
0 2 4 6 8 10 12 14 16

Price (§100)
@ $5.00

(B $12.50

(© $500.00

(D $1,250.00

4. Fred asked each of his classmates how
many times they went to the beach over
summer break. He displayed the data
using the histogram shown. Which
statement best describes the pattern of
the distribution?
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(D) The average amount spent on
television advertising is $10.10.

(E) The average amount spent on
television advertising is $10.1 million.

(P The median amount spent on
television advertising is $10.50.

(@ The median amount spent on
television advertising is $10.5 million.

Select the correct answer.

2. Lianna planted several plants in her
garden. The heights, in centimeters, of
these plants after one month are shown.
What is the mean height of Lianna's
plants? Round your answer to the
nearest tenth of a centimeter.
6,9,5.1,128,7.3,16,14.8,9, 117,124
(A 6.0 centimeters.

(B 9.5 centimeters.
(© 10.4 centimeters.
(D) 16.0 centimeters.

.
.

R

\
2 A
77

01234567889
‘Number of Times at the Beach

(A Skewed left with one deviation from
the overal pattern at the value 0

(B) Skewed left with no deviations from
the overall pattern

(©) Skewed right with one deviation from
the overall pattern at the value 0

(D) Skewed right with no deviations from
the overall pattern
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Using the data set shown, match the
measures of center and spread with their
corresponding values. Round answers to
the nearest tenth as needed.
3,7,9,2,11,6,13,12,15,9,3,6,13,9,
10,5

5. Mean A33
6. Median B 6.0
7. Mode c70
D83

8. Range
— E 90
9. Mean absolute F 120

deviation

G 130

10. Interquartile range

CONSTRUCTED RESPONSE

11. Shawn is researching the daily fiber
intake, in grams, of a group of people. His
findings are listed below. Construct a
histogram to display the data, using four
equally sized intervals. Describe the
overall pattern of the distribution.
33,29,16, 20,9, 31,23, 10, 14,28, 17,
21,16,22,29,23,32,28

12. Elijah works for a local car dealership. To
make sure their customers are satisfied
with the service, Eliah surveys a group of
customers after their visit. The survey
asks the customers to rate their service
on a scale from 0 to 10, with 0 being the
worst and 10 being the best. The survey
results are shown.
3,6,9,0,4,10,9,8,4,6,6,7,9,10,5

a. Find the mode or modes of the
dealership’s ratings.

b. Find the dealership’s average rating.
Is this value above or below the
median rating?

13. A company is hiring for positions that
require experience in biology. The years
of experience in biology for several
applicants are given
2,1,3,6,2,11,0,1,5,7,3,0,4,0, 2,
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a. What is the range of years of
experience the applicants have?

b. Construct a dot plot using the
given data.

e

c. Describe the overall pattern of the
distribution, including any deviations
from the overall pattern.
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Fiber Intake (in grams)
The overall distribution is symmetric.
Rubric
2 points for graph;

1 point for pattern of distribution

13.a. The range is 11 -0 =11 years

[ 5 10 15
Years of Experience

c. The overall pattern of the distribution is
skewed right. There is a deviation from
the pattern at 11 years, which has a
frequency of 2 applicants.

Rubric

a. 1 point

b. 2 points

c. 1 point




